Oliver Catalog: Town and Country

Version Part No. Description Note
10 - Sheet Metal Hardware Kits |
MM W132 Hardware Kit, Sheet Metal MM models
Oliver W142 Hardware Kit, Sheet Metal Oliver models
11 - Sheet Metal Parts |
Oliver W103 Side Panel Knob Screw knob screw & retainer
Oliver, MM | JX404014 Screw, 1/4 - 20 x 1/2 Truss Hd Ph
Oliver JX404020 Screw, 1/4 - 20 x 7/8 Truss Hd Ph (1")
Oliver JX404024 Screw, 1/4 - 20 x 1-1/4 Truss Hd Ph
Oliver JX404068 Screw, 5/16 - 18 x 3/4 Truss Hd Ph
Oliver JX404078 Screw, 5/16 - 18 x 1-3/4 Truss Hd Ph (2")
Oliver 1127 Bolt, Hood Stop GT hood stop bolt
Oliver JX310709 Spacer, Grill Mtg.
Oliver JX353238 Grommet, Hood Mtg. Oliver hood pivot 7/16 1D
Oliver, MM [ W101 Hood Bumper Kit, L&G one bumper, screw, nut, flat washer, lock washer
13 - Button Plugs I
MM 1213 Plug, Button 1/2 Dia. Hole plated steel
MM 1217 Plug, Button 7/8 Dia. Hole plated steel
|20 - Fenders, Platform, Seat |
Oliver S142 Mount Kit, Flexible Platform Front 1/4 Oliver front platform with hardware, 2 per
Oliver S141 Mount Kit, Flexible Platform Rear 5/16 Oliver rear platform with hardware, 2 per
|30 - Engine |
Oliver | F5304-K Screw, F5304 Air Cleaner Mount Kohler engine air cleaner mounting; #10 screw with internal too
60 - Electrical, Lighting |
Oliver F4656 Pilot Light, Dash
MM 1174 Housing, Lighter Replaces 158152AS
MM 1175 Cap, Lighter Housing
MM 1176 Plug, Lighter Replaces 158447AS
MM 1205 Lighter Assy
Oliver, MM [ O101 Diode Assy, Starter Circuit Protects neutral start switch contacts from burning out due to a
|71 - Steering Wheel Nuts |
Oliver JX444708 Nut, 1/4 - 20 Hex Center Lock OL steering wheel, nylock jam
MM JX444796 Nut, 5/8 - 11 Hex Center Lock MM steering wheel, nylock jam
|80 - Frame, Wheels |
MM JX443116 Nut, 7/16 - 20 UNF Hex Extra Hvy MM rear wheel mounting, 4 per wheel
Tuesday, November 24, 2020 www.oliverhardware.com Page 1 of 1



